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QUESTION 1

Your customer is using iISCSI LUNs on a Hitachi NAS Platform. Which three Hitachi NAS file system management
functions will the customer be able to use? (Choose three.)

A. snapshots

B. SnapMirror

C. NVRAM logging
D. iLUN expansion
E. Quotas

Correct Answer: ACE

QUESTION 2

A customer has a mixed UNIX and Windows environment and they are planning to implement a Hitachi NAS Platform.
Which three host name resolution methods are supported in this environment? (Choose three.)

A. WINS
B. NTP
C.DNS
D. NDS
E. NIS

Correct Answer: ACE

QUESTION 3

The administrator of a Hitachi NAS Platform wants to automate the replication of a directory called "Finance" within the
file system called "accounts". Other data in this file system should not be replicated. Which product should be used to
achieve this?

A. Hitachi TrueCopy (TC)

B. Hitachi Universal Replicator (HUR)

C. Incremental Data Replication

D. Data Migration

Correct Answer: C
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QUESTION 4

You are creating a deployment plan for a new Hitachi NAS Platform customer that will meet their recovery and data
consolidation requirements for their NFS and CIFS data. Which two key infrastructure areas must you identify for the
design? (Choose two.)

A. Recovery Point Objective

B. types of servers

C. Recovery Time Objective

D. number of NDS servers

Correct Answer: AC

QUESTION 5

The administrator of a production Hitachi NAS Platform requires integration to their backup platform. Which two
configurations are supported? (Choose two.)

A. direct tape connectivity

B. serverless backup

C. NDMP v4 backup over the LAN
D. block level backup direct to tape

Correct Answer: AC

QUESTION 6

A customer has purchased a 2-node Hitachi NAS platform 3080 cluster. The customer would like to optimize the design
of their network for Windows clients accessing files stored on the 3080. Which three factors must be considered?
(Choose three.)

A. the number of anti-virus scanning servers with the 3080

B. the make and model of the customer Fibre Channel switches

C. the current and planned use of VLANs

D. the use of clustered read caching

E. the use of 1 GbE versus 10 GbE connections from the 3080

Correct Answer: ACE

QUESTION 7
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A customer wants to install the two nodes of a Hitachi NAS Platform cluster 125 meters apart. What are two
prerequisites? (Choose two.)

A. The cluster interconnect XFPs must be longwave laser extended.

B. The multimode fiber optic media must comply with the OM3 standard.

C. ADWDM is required.

D. The SMU containing the Quorum must have network access to both nodes.

Correct Answer: BD

QUESTION 8

When planning for the installation of a Hitachi NAS platform MetroCluster, which three Hitachi Data Systems documents
must be completed? (Choose three.)

A. Pre-Engagement Checklist

B. Systems Assurance Document

C. Remote Copy Planning and Design Pre-Qualification Questionnaire
D. Site Implementation Guide

E. Change Control Approval Form

Correct Answer. ABC

QUESTION 9

A customer plans to implement HiTrack Monitoring for their Hitachi NAS Platform from the customer\\'s management
LAN. Which two are needed? (Choose two.)

A. a configured SMTP server

B. a configured SNMP community string

C. Admin-EVS accessible from the customer\\'s management LAN
D. an enabled HTTPS certificate

Correct Answer: BC

QUESTION 10

A customer would like to manage quotas at the directory level on a Hitachi NAS Platform. What would you recommend
to the customer?

A. Virtual Directories
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B. Virtual Volumes
C. Quota Tree
D. Sparse Directories

Correct Answer: B

QUESTION 11

A customer would like to implement a 2-node Hitachi NAS Platform 3080 cluster using a Hitachi AMS2100 storage
system. The AMS2100 is shared with other Open Systems platforms. Ports OB and 1B are the only ports available in the
AMS2100. Hport 1 and 3 are the only ports available on the Hitachi NAS Platform nodes. Which two wiring and zoning
configurations should be used? (Choose two.)

A. Hport 1 of both nodes, and AMS port OB must be connected to switch 1 and could be in the same zone.

B. Hport 1 and 3 of node 1, and AMS port OB must be connected to switch 1 and could be in the same zone.

C. Hport 3 of both nodes, and AMS port 1B must be connected to switch 2 and could be in the same zone.

D. Hport 1 and 3 of node 2, and AMS port 1B must be connected to switch 2 and could be in the same zone.

Correct Answer: AC

QUESTION 12

A customer has just implemented anti-virus scanning on their Hitachi NAS Platform and they are experiencing degraded
performance since the implementation. Which three actions can the customer take to improve performance? (Choose
three.)

A. Increase the number of anti-virus scanning servers.

B. Enable SMB signing to reduce protocol overhead.

C. Upgrade the anti-virus scanning servers to a higher performance class.

D. Optimize the network connectivity between the anti-virus scanning servers and the Hitachi NAS Platform.

E. Enable ICMP on the anti-virus scanning servers.

Correct Answer: ACD

QUESTION 13

A customer plans to have over 30 network clients accessing their Hitachi NAS Platform. They would like to increase
their bandwidth by combining multiple network ports on a single Cisco switch. Which protocol do they need to configure
on the switch?

A. Link Aggregate Control Protocol (LACP 802.3ad)
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B. Port Aggregation Protocol (PAgP)
C. Multiprotocol Label Switching (MPLS)
D. Multi Link Trunk (MLT)

Correct Answer: B

QUESTION 14

When configuring iSCSI initiators, which two must be configured to facilitate dynamic target (server) discovery from the
Hitachi NAS platform? (Choose two.)

A. the iSCSI LUN

B. the iSCSI target portal
C. the iSCSI IQN

D. the iSNS

Correct Answer: BD

QUESTION 15

A customer would like to implement a Hitachi NAS Platform in a NFS environment. They have two business
requirements: 1. "Dev" department workload is write intensive random workload and requires excellent performance. 2.
"Eng" department workload is 80% read and 20% write random workload and requires a right balance between cost and
performance. Which RAID group type should you choose?

A. RAID-10 for Dev and RAID-DP for Eng

B. RAID-5 for Dev and RAID-10 for Eng

C. RAID-10 for Dev and RAID-5 for Eng

D. RAID-10 for Dev and RAID-1 for Eng

Correct Answer: C
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